
Quiz 7 Solutions

Q1: Solve the initial value problem:
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y(0) = −1.

Solution: I.F. = e
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Now we can find the value of the integration constant by the given initial value.
As y(0) = −1, so
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Hence the correct answer is d.



Q2: Consider the following sequence: {
(−1)nn

2n+ 5

}∞

n=0

Which one of the following statements is true?

Solution: An alternating sequence {(−1)nan} converges iff limn→∞an = 0.
Here, an = n

2n+5

As limn→∞an = 1
2
, so our sequence does not converge.

Hence the correct answer is a.


